! " # $! %" & % ( * -
. $ 0 1%12 $34 % / + 5
6 1 78%8 | 9 % +
, o 1 9 1%12 $34 % / + 5
- I $ $# 1%12 $34 % + k)
< |" #= ; ( ( T 5
> |$ 9& 97 $ %= 3 @ % /| ? /| ? + )
T |5 A 4# ! $ + 5
B |[C ! ! 1%12 $84 % / + 5!
5 = = " (I ( + 6-
( 4 (! + 6-

. (# S % |/ % 1 n 6-
6 0D % ! % $ + -
A ) "$ %= 3,87 % 2 3 6-
- *§ BE 8 ( ( 2 6-
< [*D 7 )D* ! + 6-
> " * 8% | % 1 + 6-
+ $ (72 ¢ ( + 61
B |$ / ° ( ( n 6-
5 [/ 19 | % 5 + 6-

= (O 1%12 $34| % / + 65
. @ ( 1%12 $84 % / + 65
6 ( ( n 63
" =* | F# ! $ + 65
- $ [ ( n 6b
< |1 $ |/ $! %= 3" & % 4D~ 4D~ + 65
> 9 A 09 $! %( 3 % ! + 65
+ [ G 1D 1%1P $34 % / + 65
B |0 8* | # = ( 3
65 |( * 7 1%12 $34 % / + 65

18




6 H H ! %4 % 0D 0D 65
6. = ' * $ ( ( ( *

66 |= = 7$ %=2= D% /3] /3" -
6, [= " & ! $ $

6- || $ 7( %8 % ( ( 2

6< |/ $ $ $1/310 J /3" /3" +

6> |1 8 H 1% % $ $ +
6+ |1 * ! $ $

6B |1 ( $ $! %= 3" & % 4D * 4D * +
S5 18 0 7 I %4 % oD oD -
.6 9 $ % [I % ( )* () +

. = $! %= 3" & % 4D * 4D * +
,6 4* $88%!3/3; % 3 ? /3" +
L | #8% ( ( (

- | # @ "$ %+ 337 % ( (2 2 +

< [ #! $' % /| % 1 1

> " # K $! %= 3" & % 4D * 4D * +
+ |9 4F $ (! ( (

B %" ( $' % ! % ()~ ( )* +

5 % 1 I %4 % oD oD -
- ( =* )D ! $ $

- ( 9 $! %= 3" & % 4D * 4D * +
6 |= 4 $!%"33 % LD LD

L | '$ 3 8% !| % 1

- = #= = (! ( (

-< F /D $ %=(3 @ % [ ? [ ? +
-> F / ! $%= 3| A % +

-+ ? v # | $!'%= 34 $ % H H +

-B 8D 1 I' %4 % 0D 0D 5
<5 1 1 (! ( +

< * 4 = "$! %= 3;37 % ( (2 ? +

<. “(# $ 1612/ $34 % / / 5
<6 /? 1# (! ( ( +

<, 1 @ 1 %4 % 0D 0D

< (1 '0 $! %= 3" & % 4D * 4D * +
<< A? . 8 /
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<> ( 0 I %4 % 0D 0D

<+ " 7 I %4 % 0D 0D

<B (# H $ %= B4 $ % H H + b

>5 |[; 2 19%12 $34] % / / + 5

> A * $ %= 3 @ % /| ? /| ? 5
> | ( ! $! %= 3" & % 4D * 4D * .5
>6 |" 4 F 8( ( (2 5

> |$ # 1%12 $3[4 % / /

>- [0 / E %(3(3 I #% +

>< [0 ? 1 "$! %=]3;37 % ( (2 2 + .5

> |0 @ 4 $ %=[(3 @ % /? /| ? 5
>+ | ( 1%12 $34 % / /

>B $ ! "$! %= B;37 % ( (2 2 +

+5 |[H ( 19%12 $34 % / /

+ |H 1 = I %4 % 0D 0D

+ |[H 9 H $'%=|134 $ % H H .5

+6 |= ( $ 1/31D|J /3" 3 ' +

+ |= C#1l* BE| 8 ( 2 ? +

+- |=F 1* | $! %$ 383 % A A +

+< |/ ] / I %4 % 0D 0D

+> |/ 0 | $ %$ 383 % A A +

++ |/ '? I %4 % 0D 0D

+B [/ 1 I %4 % 0D 0D

B5 *( ! <, $8 ( (2 2 +

B |1 $ 1 $ % /| % 1 H -

B. 19 4* 4 (! ( ( -

B6 1 @ 1%12($34 % / /

B, |! $ $ % E % ( # +

B- |[! # |/ (! ( ( +

B< |! 7 (! ( ( -

B> |" | * $' % | % ()* [ )* +

B+ |$"'( ! $ %1|7 D % ( ( + 1

BB * 8 %% | % $ $

55 $ $! %(3 3 % ( ( -
5 $78%$| 312 = ) % H H + .

5. K KD K (! ( (




56 |= = 19%12 $84 % / / + 5
5 [ 1 (! ( ( + 5
5- [= 4 4F (! ( ( + 5
5< [= H 7 $' %= 34 $ % H +
5> (4 A BE 8 ( ? 5
5 1 $ 1 1% |! % $ $ + 5
5B |1 0 (! ( ( 5
5 [1 ? ! $' % |/ |% 1 > + 5

1 $ I %4 % 0D 0D +
.1 H * $1%9 |) % A
6 |1 '/ =* $ %$ B83 K% A A + 5
, |1 "1 # (! ( ( 5
- G 4F 1% ! % $ $ 5
< |G /| ? ! (! ( + 5
> 0D (! ( ( + 5
+ |9 8 = $ %8| = % / 5
B |9 ! I %4 % 0D 0D +
5 $ I %4 % 0D 0D + 5

4* BE 8 ( (2|7

. 4 +( P % ( ( + B
6 | 1 $ $! %" & % ' ) *
. 21* # < $8 (2 2 5
- = = 1%12 §34 % / / + 5
< 4 4 $! %" & % ' ( ) 5
> ! $ $ %= 3B & % 0 * 0 * + b
+ 1 (! ( ( 5
B |$ ( I %4 Do 0D 0D + 5
65 |( $ $ %= 3] @ % /| ? /| ? 5
6 |(*# (! ( ( + 5
6. |[( $M ( $! %(3 %
66 |( A1 (%H 4 % D# /| ? + B
6, $ $ %l ; % ( ( 5
6- |H ( $! %= 3" & % 4D * 4D * 5
6< |@ ! $! %(3 % !
6> [= G $%= 8B A % + 5-
6+ |= ) $! PK ( % ?1 4 * 5-
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6B |= $ = $!' I/3]1D J 3" /3" + 5-

5 = I %4 % 0D 0D + 5-

, 1 (%8 % ( (2 + 5t

- | * 4 I %4 % 0D 0D + 5-

,6 G 1 $! %= 3" & % 4D * 4D * + 5-
? W ( ( ( + -

~ * * (%(| (% $ (# + 5

< = $! /31D J /3" 3" + 5-

> 1 $L1B1D J /3" /3" + 5-

+ " ! 1 %12 $34 % / / + 5-

B 1" $! %(3 3 % ( + 5-
S5 11 '$ $! %(3 % ! 5-

- 1 '@ $ (%H| 4 % D# /? + 5-

- |1* 8 7" $ 11310 J /3" /3" + 5-

6 B* |/ oD BE 8 ( ( ? 5-

-, 8?21 ! $! %(3 3 % ( ( + 5-
- A $! %3 % LD LD + 5-

< | * * $78%% 312 =) % H L + 5-

> | $? $p/ ;% ( ( + 5-
+ I ( ? 1% | % $ $ + S

-B |! ** 1D (! ( ( + 5-

<5 " ; $! /31D J 13" 3" + 5-

< | # 7$2=%= D% 13" 13" + 5-
<. |$ = = (! + 5-

<6 [$ K K I %4 % 0D 0D + 5-

<, BM$ G $!%= 34 $ % H H + 5-

<- |0 $# $# $!% |/ % 1 * |H + -

<< |( 4 D (! ( ( + 5-

<> [( ( / (! ( + 5-

<+ |[H / 4 %12 $34 % / / + 5-

<B |IC ( ( $! %$ B83 % A A + 5-

>5 = A ! $78%$ ' 4* % ! ! + 55

> |= (¢ $! %$ $83 % A A + 55

> |= '$ HD $! %= 3" & % 4D * 4D * + 55
>6 |4F $ $!' /34D J 3" /3" + 95

> |/ 0D 6 (78% [/ % ( 2 |? + 55




>- ! <, $8 2 2 - 55

>< |/ / $ % E % ( i3 - 55

>> |/ I %4 % 0D oD + 55

>+ |/ 1 1 $! %(3 % ! 55

>B * 1 4 $! %= 3(3$3 M % 4 * 4 * * + 55

+5 |1 ? 1 I %4 % 0D oD + 55

+ [ I # >+ ( %H | ( % ( ( ? 55

+ |11 ( =* $! %= 3" & % 4D * 4D * + 55
+6 |1 * 8 %$ |% $ $ 55

+ L $ <, $8 ( (2 ? + 55

+ (1 '= $88%!13/3; % 3 ? /3" + 55
+< # " $ %$ 383 % A A + 55

+> " "$! %=[3:37 % ( (2 ? + 55

++ @ $'1/3LD J /3" /3" 55

+B / D $(%NSMF % ( + 55
B |; " 8% !| % 1 1 + 55

B b ! / + 55
B. |! [/ JH |4 J 1D ? - 55

B6 |! O ! $! %(3 % ! 55

B, " " $ $' /31D J /3" /3" + 56

B- [$M * | $! %4 = % / + 55
B< |$ 4 8 %0 % ( (2 ¢ + 55

B> [$ = F "4 ( ( 2 + 55

B+ [0 ? % 1 1%12 $34 % / / + 55

BB |0OD H $ ! $ $ + 55

55 |( 9 $& $! %" & % ' ) * + 55

.5 = * $'%= 34 $ % H + 55

5. $!%=|3 @ % [ ? [ ? + 55
b6 [=# L = $' %= 34 $ % H + B-

5 = "= | $! %$ 383 % A A + B-

S5- = '8 ! $ %8 |= % / + B-
b< 14 ! (! ( ( + B-

5 |/ $ "$! %F 3;37 % ( ( 2 + B-

S5+ |/ ? $ $1/1310 J /3" /3" + B-

.5B $1%= 3 | A % - B-

.5 |1 8 NWS# K % ( ( + B-
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1 A 1 $! %(3[3 % ( ( + B-

.. 1 (! ( ( + B-

.6 |1 / $! %= 3" & % 4D * 4D * + B-
|1 I @ $ %= 3 @ % /? /| ? + B-
- |1 $78%H 4 % | F 'F + B-

<1t ( ( 9%(3[$3H % 1D ? A B-

> |1 0 $' % /| % 1 = H + B-

.+ = $! %(3 % ! ! + B-

.B $ 4 $! %(3 % ! ! T B-

.5 4 D $! %( 3 % ! ! + B-

9 9 (! ( ( + B-

.. [ O $ & 78 ; : + B-

.6 !/ $ $ %8 | = % / / + B-
S Pt ( %(3$3H % 1D ? A B-

- 1 8 0 1% ! % $ b + B-

< N1 1 $1%9 ) % A A\ + B-

>t & JH| 4 J 1D ? A + B-

LT #H# $ ; ! + B-

B _[$'A $ $! %(3 % ! ! + B-

65 [$ M4F $ %l /| % 1 * H B-

6 J( 21 ! ! $ /31D J /3" /3" + B-

6. #( I %4 % 0D 0D + B-

.66 |D*D ( % |/ % 3L "F + B-

6, |H [ [/ I %4 % 0D 0D + B-

6- F '= 7( %8 | % ( (2 2 + B5

6< [= 'IF I %4 % 0D 0D B5

6> [= HF $ % |; % ( ( + B5

6+ |=F * $! % % 1 H + B5

6B [4F ! $'%= B4 $ % H H + B5

.5 A 9 $' %= 34 $ % H H + B%

. M "$! %= 3[;37 % ( (2 2 + B5

( "4 ( (2 ? + B5

.,6 * G (%$3[3K % 7 ()* B5

*( 9 $' %= 34 $ % H + Bb

¥4 I % I % $ F $ |F + B5

< 11 % S Pl ; % ( ( + B5




2>t ( 1 $78%H 4 % [ F "F + B5
S 1 $'%= 34 $ % H H + B5

B |1 4D $1%/ ; % ( ( + B5
RS | R $! %3 % LD LD + B5
- 8D ( = ! $ $ B5

. ( # ( %(d$3H % 1D ? A B5

-6 / 1 I %4 % oD oD B5

- (! ( + B5

-- ! 0D 0& $11/31D J /3" /3" B5

< | $ <, $8 ( (2 2 + BS

> ! " " $'%=3 |@ % /7 [ ? + B5
-+ " ( $! %= 3" & % 4D * 4D * + Bt
-B 1 1 ( %(3 % / / + B5

<5 |$ 8* ? ! %4 % oD 0D + B5

< |$ 0 =* $! %(3 % ! ! + Bj

<. p ?7DD B '8 ( (2 P B5

<6 [0D OD 1 * "$1 %= 3:37 % ( (2 ? B5

< = =% $! %( 3 % ! i+ B5

<- 1 $(= ! ! + B5

<< $ (# I %4 % oD 0D + B5

<> H $! oK ( % ?1 4 * * B5

<+ G G $1%=|134 $ % H H B5

<B |[H $ H (! ( ( B5

>5 @ $D $! WK ( % ?1 4 * * B5

> |= A ( $ %33 | % ( ( + +-
> |4 9& H $! %8 = % / / + +-
>6 |/ OD " $ %(3B % ( ( + +-
>, H $! %S 383 % A A + +-

S>- K N 8 / / + +-
>< $ 1 $! %8 [= % / / + +-
S>> (1 1 %S #|/ % / / + 1-

>+ (101 LD& $! %g 383 % A A + +-

>B |1/ $ (%H |4 % D 0 * +-

45 |1 $ % ; % ( ( + +-
A+ 1 1 D $ /31D J /3" /13" + +-

+. / "$1 %=[3:37 % ( (2 2 + +-
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.16 4 $! %= 3" & % 4D * 4D * + T
+ |9 ( $'9% /| % 1 1 +-

- ! $ D %(3(3 I #% 21 41 * + n

+< A $ $ WK (% 21 4 * * -

4> /A A K 7" %8 % ( (2 2 + +H

A4+ 2 | * < $8 ( 2 7 + +-

+B ! (%|?% #% ' F 'F +-
.B5 | = = $'1/31D (J /3" /B + +-

.B ! g8* " $ 1310 J /3" /3" + +-

B. | ) $ 78%)! #% * '* + +-
B6 [$'3$ = JH 4 J 1D ? A + -

.B, |0 A $! % | % ( ( + +-
B- [ $ ( $ %33 % ( ( + +-
B< [( # $ $ %$ 383 % A A + +-

B> |( $! %3 % LD LD +-

B+ |( 1 $ D %(3(3 | #% 21 41 * + +

BB |[@ 0D $! %([3 3 % ( ( + +-
655 [C H 7(|%8 % (2 7 +-

65 |K |/ < $8 ( (2 ? + +

65. |K 8 <, $8 ( (2 2 + 4-

656 | K $'%= (34 $ % H H -

65, |[4 @ 7( %8 % ( (2 2 +5

65- (4 ( 7( P8 % ( (2 2 +5

65< |/ C $ %/ ; % ( ( + +5
65> |/ * 4 4 $1%=[3 A % + +H5

65+ |/ $ $8%IF = % ( ) ()~ + +5

65B |/ G * $! %S 383 % A A + +5

65 |/ K N 8 / / + +5
6 *$ 3! ; ; ; + 5

6. *(& $ $! %$ 383 % A A 5

66 |1 $ $ $78 %% 312 = ) % H H + +5

6, [1 0D 6+( %$ 3/3) % ( ( 2 |» +5

6- |1 ' $! %K ( % ?1 4 * * + +b

6< [1 '/& 73 %=2= D% 13| /13" + +5

6> |1 '1 1 %4 % 0D oD +5

6+ |8 A ( $78%$ 312 = ) % H H +5




6B = HF % 3/ % $ ? " F + +5
6.5 D 8 %0 % ( (2 |? + +5

6. 1 $! %K ( % ?1 4 * * +5

6.. 8 / $! %% 383 % A A + +5

6.6 (9 1 %"393/ ? % $ ' + +5
6., H $! %K ( % ?1 4 * * + +5

6.- |[; ( 1 $ %8 F % / / + +5
6< (A 1 1 (%H| 4 % D 0* +5

6> |! H 4 $1%= 3 A % + +5

6.+ | $78%H 4 % | F "'F + +5
6.B [! OD $& $ %=|13 @ % /? [ ? + +5
665 |! ! $'1/31D|J /3" 3" + +5

66 |! ( "# $' /31D J /3" 13" H +5

66. |! 1 " $! %% 383 % A A + +5

666 | ! D N %H 3 ( % $ / + +5
66, [$ ' ( $ (% || % ; + +5
66- |0 = $! %K ( % ?1 4 * * -5

66< | O 4 "$! %= |13;37 % ( (2 ? + +5

66> |OF = LD # >( %1 D % ( (2 ? + +5
66+ |( 4F (# $! %% 83 % A A + +5

66B |( * & $78%H 4 % [ F "F + +5
65 |( = 8 %0| % ( (2 ? +5

6, # $ % ; % ( ( + +5
6,. ' $ 78%)! = #% * '* + >-
6,6 |= I* " %" 93/ ? % 4 * ( # + >-

6,, * 9 4* JH 4 J 1D ? A + >-

6,- |/ 1 $' D %(3(3 I #% ?1 41 * + >

6,< = =* $! %% B8B83 % A A + >-

6,> * 1 $88P0!13/3; % 3 ? /3" + >-
6,+ * $! %K ( % ?1 4 * * >-

6,B * oo $! %(3 B % ( ( + >-
6-5 * ok $! %K ( % ?1 4 * * >-

6- * 1 1 $! %(3 % ! ! + >-

6. |AO A # 1D D& $78%H 4 % F F " >
66 |1 '1 $! %3 % LD LD + >-
6-, |1 ' 1 8% ! % 1 1 + >-
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6-- =8 ( >-

6-< $ %l ; % + >-
6-> $ %, % + >-
6-+ $78%$ 312 = ) % >-

6-B $! %( 3 %

6<5 $78 %Y 312 = % -

6< S %K (% *

6<. $! % ; % + >-
6<6 $'%= 3 A %

6<, $ %I % LD >-
6<- $' %= 3 | @ % + >-
b6<< 8% ! % +

6<> " OD = $! %$| 383 % A

o<+ " = 8 %0 %

6<B | " (& 1# $'%=|134 $ % H

6>5 [$ ' ( $ 78%! = #%

6> [$ " |/ $78 %3] 312 = ) % H

6>. |H 4 ( $ 18 $

66 |l@ ( ( (%H 4] % D

6>, K A A $% E % (

6>- |= $'1%"3% %

6>< [= 1 $ % ; % (

6>> | =* = $1%= B4 $ % H

6>+ (4 8 H $! %$|383 % A

6>B | 4* | $1%= 44 3 % H

6+5 $ %8| = % + >5
6+ $! %$ 383 %

6+. $! %K ( % 4 * * >5

6+6 $78%H 4 % >5
6+, $! %K ( % 4 * * >5

6+- $'%= 3 A %

6+< 19%12($34 % / >5

6+> "4 >5

6++ 7( w8 % ( >5

6+B $78%H 4 % >5
6B5 $ D 9%(3(3
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6B 4 $! %133 % LD LD + >5

6B. [ $ F $ %K (% 21 4+ * 5

6B6 | ! *o= $! %" & % ' ) * + >5

6B, |[! C %$33K % '"F + >5
6B- |[! $ $ 78%! = #% ¥ 'x + >5
6B<|! 0D 1 %" % 0D oD >5

6B> " ( $ UK (% 21 4 * * I5

6B+ |" ' 1 %4 %) 0D 0D >5

6BB |$ 0# C $78%H 4 % [ F "F + >5
b5 [$ =* =* $!'%= 34 $ % H H + >5

5 B 8 %0 % ( ( 2 1 >5

b5, 18 (% ! $ $ >5

56 |$ % $! %8 |= % / / + >5
5 D ( %H| $ % $ + >4

S5- 0?2717 $1%9 |) % A A + >5

b< | = 9 $%= ) % 4 * # + >5

5> ( $ %1 |7 D % ( ( + >6

5+ |C (# HA %"893/ ? % 3; ( + >5
5B |[K " $% /| % 1 1 + >5

5 [=#& ( wH| (% 3E = + <

, = 1 $! %$ 393 % A o <-

. ' (%H [$ % + <-

, 6 |= H $78%H 4 % [ F "F + <-
., |= G $ % ; % ( ( + <-
-4 | $ %K (@ % 21 4 * %-

< | $! %% 3|83 % A A + <-

, > |18* (# $' W ; % ( ( + <-
D) ( ( $1%= ) | % 4 * (K¢ 1 <-

, B # / $! %K ( % ?1 4 * * <£-

D 1 4~ 7% 2=|%= D% /3" /3" + <-
B 0 ( $1 %/ % 1 * |H L

9 ! $78%9 O % / / + <-
,.6 A ( $ %8 [= % / / + <-
/ / $78%H 4 % [ F "'F + <-
N %H3( % / + <
< L $ 8 (% (% $ (# £-
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> ( " $78%9 | 0 % / / + <-
I . oD 8 %$# K % ( ( + <-
B I ! $ 78% = #% 'x ' + <-
65 | i $(= %= | 4D % ( ( i =
6 |'/AA D # $78%H 4 % ' F 'F + <-
6. |"# ( | % 3/ |% s 2 = n -
66 | $Lwl | % ( ( T <
6, |( 9 ! $! %(3 3 % ( ( + <-
6- " $1%= ) | % * (|# + <-
,6< [H H $ LD UuD + <-
6> [K?0D $ $ %(33 % ( ( + <
6+ |= 0 " $! %= 3| @ » /7 /? + <5
6B |= " (%H | $ % $ + <5
W5 |F (! ( ( + )
. # A #! $'%=134 $ % H H + <5
/1?2 @ %" [93/? % ( 2 ? + <%
.06 || F 4 JH (4 J 1D ? A + <5
. 13 C %([( % $ (# T <5
" @ ( %(3 $3H % 1D ? A + <5
< Op : (%4 $ % 0 * 4 * * + <5
,> |1D = %939 % G 1 "F + <5
.+ 18 1F D %H | ( % 3E "F + <5
,,B " 4F (%"&4 % $ *A $ F + <5
-5 ( $ D %(3(3 #% 21 41 * + <5
" ") 8 %H | ( % 3E "F + <5
4 D (% ]?7% #% "F "F + <5
6 |(F $ $ D 9%(3(3 #% 21 E I + <5
* 6 (78% | % ( ( 2 ]2 + <5
-~ |E ' D $ D %(3(3 | #% 21 41 * + <
< [H $ = (! ( + <5
> |K?/ 8 %$# K % ( ( + <5
-+ / $!' % |/ % 1 1 + -
B |1 $ 1 $78 %$| 312 = ) % H H + -
<5 |1 ! " $! %= ) % 4 * # + --
< 1 ( %;A % $ 'x + --
<. I ( 1 $ * / / + --
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<6 [) = [ # $1(%@ = NN% H H + --
<, = 3= 8 %% 32 =3) /3" /3" --
< s * (%'&4 % $ *A b F + -
<< [l 9 8 %0 % ( (2 2 + --
<> ' ' HF $78%H 4 % ' F ' F + --
<+ ["# 1 % ?$ #% 3 & (# --
,<B |" $ $1%= 3 A % + -
>5 " ( NNN $! %= 3% % / / --
> |(F 0 $78%$ 312 = ) % H H + -
> * ] %330 | % 3( ( + -
,>6 H3H 8 %= % 3 ? /3" + --
> H ) H %= % $ $ + --
> |@ / $78%9 | O % / / + -
>< |[C " " (% [ % 3 ? /3" + --
S>> = 0 $! %= 3[3%3 M % 4 * * 4 * * + -5
S+ =] H# $! %(3 % ! ! + -5
>B # % 8% !l % 1 1 -5
45 | (| $ % E % ( + -5
41 $ ( %(|( % $ ( # + -5
T $ 78%! = #% * i + -5
46 (1 * $ (%H |4 % D 0 * -5
4|1 $! %| /] % 1 1 + -5
4- 18 V# D ( %= % ;D ; + -5
,+< ) NP  %H % $ q * * + -5
4> ! ' $1%9H K4 % 4 = # + -5
g4+ | 1F >(|%3L % 4 * 4 * * + -5
4B [ #: 7 ( %( (| % $ # + 5
B5 | * 1 ( %( (| % $ # + 5
,B IAA $78%% 312 = ) % H H -5
B. |$ ; ( %H | ( % 7 'F + -5
B6 [$ / $ $8%IF = % ( )~ | () + -5
B, ® $! %" % LD LD + -5
B- (1 ( (%H 4 % D 0 * -5
B< [ 1 ) ( %( (|% $ # + -5
B> |( ! F N( % (3( ? % i ' + -5
,B+ * * ( %= % :D : + -5
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,BB [HA =# $ 78%! = #% * 'x + -5

55 |IC (4 % |/ % 3L "F + -5

-5 =# 1AA %939 % G ? "F + -
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